FH3I30F2A23H (£) 2A2408 (4)
INP—BRRHEAES7 75— MRETIER
B
CERIZEHIZDONT, BBRLET, %@g\zoﬁ 2.8%
5.3% | 304%
MK _12.0%
18 H mEH | 2NE
101 0 0.0%
204% 2 2.8%
301X 9 12.0% cofm 1470’;5/
401% 13 17.3% 45.3% N-17.3%
504% 13 17.3% '
601t ~ 34 453%
EEES 4 5.3%
~_501%
17.3%
TORDHBR EME 6.7% R
[BEFVDHIEK | 12.0% _17.3%
EE | @EE | Fa AN
ZERMX 13 17.3%
ZEHHX 24|  32.0% TG 1 X
ZEIHR 1 14.7% 8.0% \
ZERMHX 7 9.3%
ZEMmX 6 8.0%
Z Dt 9 12.0% B X
A EES 5 6.7% 9.3% R
32.0%
R
14.7%
TNt 6
[FETIZDOLNT) XEHEE hEEDEFH | MFRDEFHk 14
EE &% ~
FREFRID B FHk 14
INEE DB FRk 28
hEEEDEFH 5
ZDith 6

[BEFECLTLSSIE | 26| |
INEEDBFH 28



B2 AHOFRBAIZODWTIEFWZIFELED,
KCDEXRANDEBEEZR>IOTEBY FHA,

1HH EEEER F<BRTET- 4.0%
F<HEFETST: 3] 4.0%
R TET- 20] 26.7%
DLEL D oT: 10] 13.3% P BRRTES-
#LHHT- 10{ 13.3% 427; 26.7%
A EES 32| 42.7% P~
<ZFDHDER>

TIRECE 1 ETM- - 1EIEELS
BEERSEDELELENIFAL

/\

13.3%
#LHof-13.3%
B3
INP—ERERIELBEZED TV EHDT—9 3y TIZSMLZWEBLET A,
HH EZ% 2NE
- FosmLfi-Ly
FVSMLIL 15| 20.0% iﬁf\ I 200%
BEMNEZIES ML= 31| 41.3% i
SML1=<%Ly 16| 21.3%
[0 & 13| 17.4%
<FDHOER>
TEZS1=HIZ=mLi=L e
A ATRDHAR TS MOEBRAEL BMLI=CL
EBEAHEICRBRTEINESH. ABIZLD 21.3%

HENSZXEMLLY 41.3%



Fosmii=Ly) XiE TEBEAGZIESMHLEEVL] EEEZESNEZAAN
SMLOTLEEIZDONT MEHES

EDQEBINANNTT M B8 15
HH EIR2%-5
- 15 EEE
+IEH 22 T
HEER 18
o) & 34
Bl 22

HiIEH
18

WL DEFFEALNTT A KEREZE

I5H [B] &5 %1

aa:Ll 12

Fi% 9

w"E 19 MEE T 9
49 [[] 25 38 38

l |
®E 19

B4 TDARNVK-TTEZFDBRZECHLFETH  XEHEE
P
HH BIE RAHIN 13z 2

AP 33 |
R 18 o
R 2 BA% 33
REM(E) 2 HOHP 15
FECXEEVZ— 1
53R 33

V4= R <~
HDOHP 15
RAEIA 13 ‘
FDith 2 L 33 ik 18
\
—_Hh#E 2

FETXEE S 1/ Lﬁ‘:ﬁﬁﬁ() 2




